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Addition, Soustraction et Multiplication (H) RéponsesCalculez chaque somme, différence ou produit.5 + 3 = 8 12 + 9 = 21 11 × 5 = 55 12 + 7 = 194 + 11 = 15 2 × 2 = 4 11 × 1 = 11 9 × 11 = 995 × 5 = 25 7 × 9 = 63 9 - 8 = 1 1 + 2 = 320 - 10 = 10 8 + 11 = 19 12 + 1 = 13 5 × 8 = 4018 - 8 = 10 3 × 1 = 3 5 + 9 = 14 11 + 2 = 1311 × 4 = 44 9 + 7 = 16 5 × 2 = 10 2 + 6 = 83 × 4 = 12 12 × 4 = 48 1 × 3 = 3 6 + 8 = 148 × 6 = 48 11 + 2 = 13 9 - 8 = 1 7 - 5 = 212 - 1 = 11 7 + 8 = 15 11 × 12 = 132 4 + 10 = 1416 - 5 = 11 5 × 6 = 30 9 + 12 = 21 10 - 3 = 72 × 7 = 14 8 - 7 = 1 10 + 12 = 22 3 × 10 = 3011 - 4 = 7 11 + 10 = 21 22 - 12 = 10 13 - 8 = 512 × 12 = 144 4 + 9 = 13 1 × 1 = 1 13 - 6 = 73 + 2 = 5 15 - 6 = 9 4 × 7 = 28 12 × 3 = 3611 + 4 = 15 10 × 7 = 70 19 - 10 = 9 8 - 5 = 316 - 4 = 12 14 - 7 = 7 13 - 3 = 10 5 × 3 = 159 × 7 = 63 1 × 8 = 8 12 × 10 = 120 3 + 9 = 122 × 8 = 16 3 × 10 = 30 5 + 2 = 7 12 + 12 = 244 + 4 = 8 10 - 8 = 2 3 + 7 = 10 13 - 5 = 87 × 4 = 28 7 × 4 = 28 17 - 11 = 6 3 × 5 = 159 × 6 = 54 5 + 11 = 16 12 × 11 = 132 5 × 1 = 54 × 6 = 24 11 - 1 = 10 5 × 4 = 20 2 × 12 = 249 × 5 = 45 10 - 3 = 7 8 + 1 = 9 3 × 9 = 277 - 2 = 5 12 + 1 = 13 2 + 2 = 4 3 × 6 = 1811 + 5 = 16 10 × 9 = 90 17 - 9 = 8 11 × 1 = 11Mathslibres.com


